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QUESTION 1

Which of the following statements about \\'evaluation\\' is correct? 

A. evaluation relates to the left-and and right-hand side of the V model 

B. evaluation is the review of end products 

C. evaluation applies to incremental and iterative system development methods 

Correct Answer: C 

 

 

QUESTION 2

A structured testing approach is characterized by: 

providing concrete footholds covering the full scope and describing the complete range of relevant aspects providing a
structure, so that it is clear what exactly by whom, when and in what sequence has to be done. What is the fourth
characteristic? 

A. it delivers insight into and advice on any risks in respect of the quality of the tested system 

B. managing test activities in the context of time, money and quality 

C. the testing is on the critical path of the total development, as briefly as possible, so that the total lead time of
development is shortened 

D. to find defects at an early stage 

Correct Answer: B 

 

 

QUESTION 3

What is not a test benefit? 

A. facilitating good project control by providing information 

B. avoiding repair costs and consequential loss in the production situation 

C. avoiding damage during production 

D. release of a product 

Correct Answer: D 
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QUESTION 4

What is not a general step when specifying test cases? 

A. allocating the test techniques 

B. identifying test situations 

C. creating the test script 

D. establishing the starting point 

Correct Answer: A 

 

 

QUESTION 5

The test infrastructure consists of facilities and resources required to conduct testing effectively. Which facility does not
belong to the testing infrastructure? 

A. test environments 

B. test design techniques 

C. test tools 

D. workplaces 

Correct Answer: B 

 

 

QUESTION 6

Which activity is not part of the Completion phase? 

A. updating the testware to be preserved 

B. assessing test results 

C. evaluating the test process 

D. selecting the testware to be preserved 

Correct Answer: B 
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QUESTION 7

See the specification below: 

Apply the Decision Table Test to the above specification. When doing this, use the coverage type multiple condition
coverage. How many logical test cases result in an error message? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

 

QUESTION 8

See the figure below: 

Of which test design technique is this an example? 

A. Data Combination Test 

B. Data Cycle Test 
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C. Semantic Test 

D. Syntactic Test 

Correct Answer: D 

 

 

QUESTION 9

See the illustration below: 

What is the minimum number of logical test cases generated by the use of the Process Cycle Test if the coverage type
paths test depth level 2 is used? 

A. 3 

B. 5 

C. 6 

D. 9 

Correct Answer: C 
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QUESTION 10

Which type of tool is used in the Execution phase to test a module or component that has a relationship with programs
that have not yet been realized? 

A. code coverage tool 

B. comparator 

C. \\'model-based testing\\' tool 

D. stubs and drivers 

Correct Answer: D 
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